Possible Solutions

Alexa has these coins in her pocket. She wants to buy some items at the store.

Item Price
Bear 98¢
Whistle $0.75
Duck 85¢

Ball $0.94

a) How much money does she have to spend? 50¢, 75¢, 85¢, 90¢, 91¢. Alex has 91¢ or $0.91

b) Name one toy that Alexa can buy with her coins and explain your thinking.
Possible Answer: Alex can buy the duck because she has 91¢ and the duck costs 85¢ and still
have a nickel and a penny left over.

¢) Name one toy that Alexa cannot buy with her coins and explain your thinking.
Possible Answer: Alex cannot buy the ball because she only has $0.91 and the ball costs
$0.94. She needs 3¢more to buy the ball.



